
Possible Solution 
 
David took the following gummy bears out of a candy bag and counted how many there 
were. How many gummy bears were taken out of the candy bag? 
 
 
 
 

 
 
David’s friend, Gary, counted the gummy bears to shown below to check David’s counting. 
 
 
 
 
 
 
 
 
 
 
 
 
 

1. David counted 12 gummy bears that were taken out of the candy bag. David’s 
friend, Gary also counted 12 gummy bears. 

 
2. Tell how the sets of bears are alike and how they are different. 

The bears are alike because both groups have the same quantity or 
amount of gummy bears. Both groups have the same number of 
colors of gummy bears. 

The bears are in different because one group is spread out in a line 
and the other group is in a circle. 


